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2+ - B Rectzgw| » H Recth # & 4c™

H M3 length 4= width » & BB p 25 1.0 iR FE5% &
(perimeter) fem f# (area) eh= § Sn¥co ¥ *F > J TR B IR 2
(setWidth ) = j& B~ (getWidth ) S #c > » & =& B Lok ?;( setLength )
feiE P~ (getlength) Snffc o 3% L&k 4 & )iﬂfrﬁ’)ii %3+ 0.0 ¥
A 20 0 g5 2hdic - 12T 5P Rect 3¢ %) end 4250
- <jostream=

Zinclude <iomanip>
Zinclude <stdexcept>
Zinclude "Rect.h"
using namespace std;
nt main(){

Rect x, y(3.0, 4.0);

cout << fixed;

cout << setprecision(1);

cout << "X: length =" << x.getLength() << "; width ="

< X.getWidth() << ": perimeter =" << X.perimeter()
"-area =" << xX.area() << "n'

cout << "y: length =" << y.getLength() <<": width="

< y.getWidth() << "; perimeter =" << y.perimeter()
".area =" << y.area() <<'n'

1.0 width = 1.0; LIHI luu.—.T.':I
4.0 width = 3.0;

8 4 Rect.h ® z’v’vRect()asetWidth()’setLength()’getWidth()’getLength()’
perimeter() > area() ¥ CH++dn#ic > k= = F 3 BN e (78 % ahrt ag o
(25 %)
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import java.util.Scanner;
public class LSE111 r4 2 {

public static void main(String[] args) {

Scanner input = new Scanner{System.in};
System.out.print (" BLEL: ") ;
int value = input. nextInt{}
String oS = "";
while (value '= ) {
int 8 = value 3 - ;
05 = 3 + 05;
value = value / 2;
}
System.out.println ("l =: " + 03);



